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The original S-caleulus: With € := 1 + o, (a) := 3 a,, and (y) := Zi.#“ Yoy
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Constraints. e Column sums are monomials minus 1.
A-better caleulus: Constraints. ¢ Sum of column z is (o, — )w. e wF ' A*A. @At f, =1, w=1and A=0.
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Note. A" = (: § + ad=s :-m '\‘T) = ("Y (u;+ﬂ)5—')‘_|"‘f) = % [( +Of) (: 5) - (:) (Of l'jl):| = %[{w’ +ﬂ'-u.-r}A - “:.r'”-u*] .
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Claim. w1 | A¥A and w¥ | A*1 A implies (w 4 o)1 | AFA®, (k/’TL\ < = Ku\;c)
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That is, with Ag.z denoting minors, if ¥ pg.e = Agz and ¥ pyper = Aygeers then (w + (r)""l()(pﬁ;_.; + puiar) = AFE.
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To do. e Consider a verification program. e Add dm formulas. e Add Burau calculus. e Add the conjugation
relation. e Add the MVA formula
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